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Paper-11 Indirect Taxation

Time Allowed: 3 hours Full Marks: 100

Working notes should form part of the answers.

1. Answer the following questions [1 x 20= 20]

(i) What are the powers given to the State Government under Article 246(3)2
(ii) A biscuit manufacturing company prints on the packages the MRP of %5.00 for the state of

West Bengal, T6.00 for Madhya Pradesh and %7.00 for the rest part of India. What will be the
Assessable Value for the purpose of calculating the excise duty?2

(iii) A manufacturer produces a product which is not sold but supplied to a related person who
consumes it in his production process. What will be the valuation for such captive consumption?
(iv) A retailer sold cold drinks to its buyers for 320 (10 for the cold drinks and the balance %10 for
the bottle) if they want to get it af their home. The retailer refunds the amount of the bottle if the
buyer returns it in the usable condition. Then whether the amount taken for returnable bottles
should be included in the assessable value or not?

(v) Discuss whether the excise duty is aftracted on excisable goods manufactured by or on

behalf of the Government.
(vi) "Goods already exported cannot be confiscated under Customs Act.” — Explain.

(vii) Is anfi-dumping duty is payable by EOUs under the Customs Act, 19622

(viii) What is the condition for levy of Specific Safeguard Duty u/s 8C of Customs Tariff Act?

(ix) Are Barge or Lighterage charges not to be added to the customs value while calculating
the value of imported goods?

(x) What are the types of Drawback rates?
(xi) Mittal, a consulting engineer, raised a bill of 2,19,225 (including Service Tax) on her client for

Consultancy Services rendered by her on January 15, 2015. If a partial payment of %1,33,945 is
received by Mittal on February 5, 2014, what would be the amount of Service Tax payable by
him for the quarter ended on March 31, 2015.

(xii) Determine the point of taxation in case of copyright, frademarks etfc.

(xiii) “A service provider cannot opt for centralised registration under service tax even though he
has centralised billing system.” — Discuss

(xiv) Mr. A is a provider of taxable service under the brand name of others. He started his

business in April, 2014. Taxable furnover for the year 2014-15 is ¥ 5 lakh. Whether registration is
compulsory for him and why?
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(xv) The Reserve Bank of India (RBI) has provided some valuable services to the Government of
India. Whether RBI is required to pay service tax on the services provided by it and why?
(xvi) “VAT helps in checking tax evasion and in achieving neutrality.” — Is the statement true?

(xvii) What is ‘Goods’ under CST Act?

(xviii) Define ‘Sale’ in the purview of Central Sales Tax Act.

(xix) When the Assessing Officer can refer for computation of arm’s length price under section
92C to the Transfer Pricing Officer2

(xx) State the validity of Advanced Pricing Agreement.

(2) Answer any two questions [2 x 2= 4]

(a) Whether recovery from buyer is not essential condition for levy of indirect taxes?

(b) State the power of taxation under Constitution of India.
(c) List out the items which will appear on the Concurrent List (list lll) given in Schedule Seven of
the Constitution.

(3) Answer any two questions [2 x 8=16]

(a) (i) M/s. Kalpana Ltd., sold machinery to Mr. Gupta at a price of ¥ 7 lakhs on 15th June, 2014
and the same was removed from the factory at Kolkata. The rate of excise duty applicable is
12.36% on the date of removal. Mr. Gupta refused to take delivery of the machine when it
reached his destination. In the meantime, M/x. Kalpana Ltd. increased the prices of the similar
type of machinery to ¥ 8.5 lakhs with effect from 16th June, 2013. The machinery as refused by
Mr. Gupta has been sold on 20th June 2014 to Mr. Basu at the revised price of ¥ 8.5 lakhs. The
excise duty including Education Cess is 12.36% applicable with effect from 10th June, 2014.

Explain the following with reasons:
(a)  Whatis the value to be taken as assessable value?
(b)  Whatis the rate of excise duty applicable and duty payable on above transaction?

(c) The Central Excise Officer is demanding duty on the price of ¥ 8.5 lakhs at the time of sale
tfo Mr. Basu. Is he right in his approach?

Does cost of production have any bearing on the assessable value? [4]

(ii) Determine the cost of production on manufacture of the under-mentioned product for
purpose of captfive consumption in terms of Rule 8 of the Central Excise Valuation Rules, 2000
(amounting)

Direct material 13,483
Direct wages & salaries 7,900
Works overheads 5,700
Quality control costs 4,800
Research and development costs 2,700
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Administrative overheads 3,900
Selling and distribution costs 3,200
Realizable value of scrap 1,300
The Administrative Overheads are in relafion to production activities.
Material cost includes Excise duty T 1,483. [4]

(b)(i) Snow Ltd. sold 100 units manufactured by it for ¥ 15,000 per unit. It had received interest-
free advance of T 3,00,000 from the buyer for the whole of the year. Compute the assessable
value of 100 units sold in following independent case:

(i)  The price charged from other buyers is ¥ 14,500 per unit.

(i) The price charged from other buyers is ¥ 16,300 per unit.

(i)  The normal rate of interest is 12% per annum and the price charged from other buyers is

216,300 per unit. [4]

(ii) Why indirect taxes are called regressive in nature as against direct taxes? [4]

(c) M/s. Human Care Ltd. has infroduced a new product 'Paradise’ toothpaste, nofified under
Section 4A of the Central Excise Act, 1944, with a nofified abatement of 30%. Determine the
central excise duty payable if rate of duty is 12%, education cess is 2% and secondary and
higher education cess is 1%:

(i) 1,500 pieces having retail sale price (RSP) ¥ 65 per piece are sold in retail packages to
wholesale dealer at ¥ 50 per piece.

(i) 2,500 pieces having RSP X 65 per piece are sold in retail packages, but buyer is charged for
2,100 pieces only at ¥ 50 per piece (400 pieces have been given free as quantity discount).

(i) 50 pieces were given away as free samples, without any RSP on the pack.

(iv) 350 multi-packs were cleared at ¥ 80 per pack, each containing two toothpaste tfubes and
one toothbrush free (without any RSP on it). Each tooth paste tube was having RSP % 70,
which was scored out and each multi-pack had RSP of ¥ 130.

Make suitable assumptions wherever required and show the calculations with appropriate notes.

[8]

(4) Answer any two questions [2 x 6= 12]

(a) State briefly with reasons whether credit under the CENVAT Credit Rules, 2004 would be
available in the following cases:

(i) Final product is cleared in durable and returnable packing material.
(ii) An input becomes a waste and is sold as scrap.
(iii) Inputs used in frial runs [6]

(b) A commodity is imported into India from a country covered by a nofification issued by the
Central Government under section ?A of the Customs Tariff Act, 1975. Following particulars
are made available :

CIF value of the consignment: US$ 30,000
Quantity imported: 600 kgs.
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Exchange rate applicable: T 50 = US$ 1

Basic customs duty: 20%.

Education and secondary and higher education cess as applicable.
As per the notification, the anfi-dumping duty will be equal to the difference between the
costs of commodity calculated @ US$70 per kg. and the landed value of the commodity as
imported.

Appraise the liability on account of normal duties, cess and the anti-dumping duty.
Assume that only 'Basic Customs Duty' (BCD) and education and secondary and higher
education cess are payable. [6]

(c) Distinguish between Safeguard Duty and Antfi-dumping Duty for the purpose of customs.  [6]

(5) Answer any two questions [2 x 4= 8]

(a) “SEZ are like a separate island within country.” — describe SEZ (Special Economic Zone) in
relation to taxation issues.
(b) State the procedures to claim for duty drawback at the time of export.

(c) What are the export incentives available to the manufacturere

(6) Answer any two questions [2 x 10= 20]

(a)(i) An interior decorator charges ¥ 7,00,000 from a client for providing professional services.
The breakup of the bill is as follows:-

i. Value of furniture sold to the client —¥ 3,50,000
ii. Labour and facility charges — % 1,50,000
ii.  Value of materials consumed in providing the service —¥ 2,00,000

Compute the amount of service tax to be charged from the client. Provided all the amounts are
exclusive of service tax. [5]

(ii) PQR Ltd. enters into a contract with TBZ Ltd. for construction of a new building primarily for the
purpose of commerce or industry for a total consideration of ¥ 370 lakhs on 02-04-2013. The
relevant details are given as under —

Stage Date Date of Date of Amount of
[Expected]| issuance | Payment Payment (%)
of invoice
Initial/Booking 02-04-2014 | 02-04-2014 |02-04-2014 50 lakhs
50% completion of building 14-10-2014 | 20-10-2014 | 26-10-2014 120 lakhs

[ofter gefting certificate from the
stipulated Chartered Engineer]
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75% completion of building 22-02-2015 | 24-03-2015 |26-03-2015 110 lakhs
[after gefting certificate from the
stipulated Chartered Engineer]

100% completion of building 30-07-2015 | 20-08-2015 | 10-08-2015 90 lakhs
[aofter getting certificate from  the
stipulated Chartered Engineer]

Determine the Point of Taxation in respect of each of above stage of completion. [5]

(b) (i) Bhubaneswar Ltd. Carried out following works, all of which are leviable to sales-tax/VAT as
fransfer of property involved in the execution of works confract (the sum charged given below
are exclusive of all taxes) -

(1) New constructions: T 65 lakh;

(2) Additions and alterations to damaged structures on land to make them workable: ¥ 30

lakhs;

(3) Supply along with erection, commissioning and installation of plants: ¥ 87 lakhs;

(4) Maintenance and repair of goods: ¥ 35 lakhs;

(5) Maintenance and repair of immovable property: X 42 lakhs;

(6) Finishing and Glazing Services of an immovable property: ¥ 12 lakh;

(7) Other works contracts: ¥ 6 lakh.

Compute taxable value and service tax thereon. [8]

(ii) Mr. A'is a provider of taxable service under the brand name of others. He started his business
in April, 2014. Taxable turnover for the year 2014-15 is ¥ 5 lakh. Whether registration is compulsory
for him and why? [2]

(c)(i) Compute taxable value and service tax from following sums received by M/s. Prince
Medical Centre (exclusive of service tax) (Ignore small service provider's exemption) -

(1) Testing (with Transmission of medical samples between laboratories): ¥ 15 lakh ;

(2) Medicines consumed as a part of health care services : ¥ 8.50 lakh ;

(3) Preventive health care services : % 6 lakh ;

(4) Treatment along with Facilities provided such as TV, AC, room rent, meal to patient (as a

part of package): T 74 lakh ;

(5) Genetic affinity examination for determining biological father : ¥ 14 lakh ;

(6) Hair tfransplant services due to injury in a fire accident: ¥ 18 lakh ;

(7) Cosmetic surgery of a film star : ¥ 18 lakh ;

(8) Conducting medical examinations of individuals : ¥ 3 lakh [6]

(ii) State the details which are contained in the service tax returne [4]

e —
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(7) Answer any two questions [2 x 6= 12]

(a)(i) Mr. Gaya, a dealer in Kolkata dealing in consumer goods, submits the following information
pertaining to the Month of March, 2015:

(i)  Exempt goods'A' purchased for ¥ 1,50,000 and sold for ¥ 1,70,000.

(i)  Goods 'B' purchased for ¥ 2,00,000 (including VAT) and sold at a margin of 10% profit on
purchases (VAT rate 12.5%);

(i)  Goods C purchased for% 1,25,000 (excluding VAT) and sold for ¥ 1,70,000 (VAT rate 4%);

(iv)  His unutilized balance in VAT input credit on 01.03.2015 was ¥ 2,000.

Compute the turnover, Input VAT, Output VAT and Net VAT payable by Mr. Gaya. [4]
(ii) What is Independent Professional Audit in the context of VAT? [2]
(b)(i) Determine the Toaxable Turnover, Input Tax Credit and net VAT payable by a Works

Contractor from the details given below on the assumption that the Contractor maintains
sufficient records to quantify the labour charges. Output VAT at 12.5%:

Particulars (% in Lakhs)

Total Contract Price (excluding VAT) 120

Labour Charges paid for execution of the contract 53

Cost of Consumables used not involving transfer of property in goods 7

Material purchased and used for the Contract, taxable at 12.5% VAT (VAT

included) 48
Contractor also purchased a Plant for use in the contract for ¥ 10.4 lakhs. In the VAT Invoice, VAT
was charged at 4% separately, and the said amount of ¥ 10.4 Lakhs is inclusive of VAT. [4]
(i) Is tfransfer of property in goods without consideration chargeable to CST?2 [2]

(c)(i) Sri Pramod, a Registered Dealer at Mumbai, furnishes the following information:

R)
(i) Inter-state sale of goods 40,00,000
This includes the following—
(ii) Excise duty 38.000
(iii) Goods returned on 17/1/2015 [These goods were sold on 12/4/2014] 89,000
(iv) Cash discount shown in invoice and allowed according to prevailing 50,000
frade practice
(v) Freight and transportation charges (of this ¥ 1,50,000 is on inclusive 4,50,000
basis)
(vi) Insurance premium paid prior fo delivery of goods 60,000
(vii) | Installation and commissioning charges levied separately in invoices 68,000
Compute the taxable turnover under the CST Act, assuming the rate of tax @ 2%. [4]

(ii) What are the goods purchase on which CENVAT Credit is not available under VAT lawe  [2]
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(8) Answer any two questions [2 x 4= 8]

(a) Your client company is a subsidiary of a foreign company, having its registered office in India.
This company has transaction of imports of raw materials and components and also exports of its
manufacture components from & to holding company in Netherland and also other group
companies in South East Asian countries. What are income tax regulations governing such
international transactions?

(b) One of the methods for determining Arm’s Length Price is Resale Price Method (RPM). State
the applicability of RPM.

(c) After visiting USA, Mrs. & Mr. Sunil brought to India a lap top computer valued at ¥ 60,000,
personal effects valued at ¥ 85,000 and a personal computer for ¥55,000. What is the customs
duty payable?
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